LR "= Rkl s

ainple inited is active

[ 1,920954]) mount used greatest stack depth: 6764 bytes
‘binssh: can't access tty: job contrel turned off
[ 13368701 id used greatest stack depth: 6556 bytes left
hoexit
E B.4006301 sh used greatest stack depth: 6532 bytes left

L B.40109Z] linuxrc used greatest stack depth: 6036 bytes leit
[ §.403930] EXT3-fs: barriers not enabled

| 9.1954511 kjournald starting. Cosmit interwval 5 secomds

{ 9.1964411 EXT3-fs (sdal): using intersal journal
[

{

[

[

|

|

9.1965441 EXT3-fs (sdal): recovery complete

9.3201011 EXT3-fs (sdal): mounted filesystem with uriteback data mode
9,326252]1 UFS: Mounted root (extd filesystem) om dewice 8:1.
9,320354) Trying to move old root to /inited ... shey

9.3497661 Freeing unused kernel menory: 424k freed
9.350464) Urite protecting the kernel text: 4688k :
[ 9.350765] Write protecting the kernel read-only data: 1836k

[nitializing randon number generator... done .

Starting metwork. ..
[ 9.%5?5?3] ip used greatest stack depth: 5908 bytes left

Starting sshd: OK
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